
 

 

Answer on Question #48710 – Math – Algebra 

√
3ab−3 − b2

12a3b
 

Solution: 

To begin, we rewrite the numerator. 

√
3ab−3 − b2

12a3b
=
√
3a
b3

− b2

12a3b
=
√
3a − b5

b3

12a3b
 

As the result of our calculation we obtained the following expression. 

√
3ab−3 − b2

12a3b
= √

3a − b5

12a3bb3
 

Next, we can extract from the root of the denominator. 

√
3a − b5

12a3bb3
=
√a

−3b(3a − b5)
b3

2√3
 

We extract a negative sign in the expression with radicand. 

√a
−3b(3a − b5)

b3

2√3
=
√−a

−3b(b5 − 3a)
b3

2√3
 

Now we can we extract the monomial a−3bof the radicand. Now we can write. 

(a−3b)
1
2 = a−

3b
2  

√−a
−3b(b5 − 3a)

b3

2√3
=
a−

3b
2

2
√−(

b5

3b3
−

3a

3b3
) 

Finally we obtained the following result. 

a−
3b
2

2
√−(

b5

3b3
−

3a

3b3
) =

1

2
a−

3b
2 √

a

b3
−
b2
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